SPARE PARTS LIST

MODEL NO. GA5021C

PAGE 1

ITEM PART NO. DESCRIPTION QTY NOTE
001 266041-8 Onmetszo csavar M5x25* 4
002 417771-6 Sapka MT952 1
003 234057-1 Nyomorugd GA5030 1
004 318158-4 Fogaskerékhaz 1
005 424051-3 RUBBER RING 26 1
006 264010-3 Hex. Nut M7 1
007 227520-1 Fogaskerék 11 1
008 210059-1 Golyéscsapagy 6000DDW HR4000C 1
009 267352-4 Flat Washer 22 1
010 962107-9 RETAINING RING R-30 1
011  240094-5 FAN 70 1
012 513799-3 ARMATURE ASS'Y 240V 1
INC. 11,13-15
013 681660-3 Szigetelo alatét 1
014 267281-1 Alatét 31 1
015 210005-4 Golyéscsapagy 608DDW 210005-4* 1
016  421720-7 Gumigyuru 5604R* 1
017 266325-4 Csavar 2
018 419961-7 Szabalyzé lemez 1
019 525784-4  All6rész PC5000C 1
020 158398-0 Motorhaz 1
021  194547-5 Szénkefe CB253 1
022 643750-0 Szénkefetart6-sapka 643750-0* 2
023 864047-6 Name Plate GA5021C 1
024 188452-6 Handle set 1
INC. 37
025 266326-2 Csavar 4X18 4
026 631799-2 Elektronika PC5000C 1
027 418518-1 Persely 1
028 651922-3 Kapcsolé TG71B 651922-3* 1
029 654575-7 TERMINAL BLOCK 1
030 266326-2 Csavar 4X18 1
031 687260-7 Szorité /HR2470 1
032 682505-8 Kébelvédo 10-90* 1
033 665865-3 Power supply cord 1.0-2-2.5 1
034 233117-6 Nyomorugé GA 1
035 418519-9 Alaplap /GA9010C 1
036 158401-7 Kapcsolékar GA5021 1
037 188452-6 Handle set 1
INC. 24
038 213977-2 O gyuru 7 1
039 256505-0 Csapszeg 5 1
040 263002-9 Gumi csapszeg 4 263002-9 1
041 210006-2 Goly6scsapagy 69627 2106 1
042  233926-3 Gyuru GA6021C 1
043  253835-0 Lapos Alatét 8 (kicsi) JV2000 1
044 267811-8 Szorité lap GA50/6020 1
045  227522-7 Fogaskerék 35B 1
046  233957-2 Kuplung GA5020 1
047  324833-2 Rogzito persely GA5021 1
048 911003-8 Trapézfeju csavar M3x6 911003- 3
049 285728-3 Csapéagytarté GA6021 1
050 211236-8 Golybéscsapagy* 1
051 253853-8 Alatét 15 1
052 213624-5 O-gyuru PC5000C 1
053 318332-4 BEARING BOX 1
054 265131-4 Pan Head Screw M5x18 4
055  345464-4 Gyuru 1




SPARE PARTS LIST

MODEL NO. GA5021C

PAGE 2

ITEM PART NO. DESCRIPTION QTY NOTE
056  324789-9 Tengely 1
057  265180-1 PAN HEAD SCREW M5x16 1
058 122895-2 WHEEL COVER 125 ASS'Y new 1
INC. 57
059 224415-9 Belso illesztoperem 1
060 224554-5 Biztositéanya 14-45, 45 mm (0j 1
061 253828-7 Lapos tavtarto alatét 10 AN501 1
AO1 153504-2 GRIP 36 COMPLETE 1
AO02  782423-1 LOCK NUT WRENCH 35 1
AO03 806217-1 UPC/MODEL GA5021C 230-240V 1




SERVICE DRAWING

PAGE 1

MODEL NO. GA5021C

Y% \r\ ,,,_ LNy

59

\\ ///
A\
’ N IR
W )
R B
[ I
AV
\ ’ .. 1 ,..v g
N i
. \\
\\

(o}
©




